
Multiply and Divide by Negative Powers of Ten (A)Find each product or quotient.
3.4893 ÷ 10⁻² = 1.3 ÷ 10⁻² =
7.985 × 10⁻³ = 4.337 ÷ 10⁻¹ =
4.054 ÷ 10⁻³ = 6.4591 ÷ 10⁻² =
9.569 ÷ 10⁻¹ = 5.365 × 10⁻¹ =
3.3 ÷ 10⁻³ = 9 ÷ 10⁻² =
7.4989 × 10⁻³ = 8 × 10⁻¹ =
8.562 ÷ 10⁻¹ = 4.7 ÷ 10⁻³ =
0.8067 × 10⁻³ = 8.19 × 10⁻¹ =
2.8479 × 10⁻¹ = 0.5 ÷ 10⁻¹ =
9.12 × 10⁻³ = 8.84 ÷ 10⁻³ =
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Multiply and Divide by Negative Powers of Ten (A) AnswersFind each product or quotient.
3.4893 ÷ 10⁻² = 348.93 1.3 ÷ 10⁻² = 130
7.985 × 10⁻³ = 0.007985 4.337 ÷ 10⁻¹ = 43.37
4.054 ÷ 10⁻³ = 4,054 6.4591 ÷ 10⁻² = 645.91
9.569 ÷ 10⁻¹ = 95.69 5.365 × 10⁻¹ = 0.5365
3.3 ÷ 10⁻³ = 3,300 9 ÷ 10⁻² = 900
7.4989 × 10⁻³ = 0.0074989 8 × 10⁻¹ = 0.8
8.562 ÷ 10⁻¹ = 85.62 4.7 ÷ 10⁻³ = 4,700
0.8067 × 10⁻³ = 0.0008067 8.19 × 10⁻¹ = 0.819
2.8479 × 10⁻¹ = 0.28479 0.5 ÷ 10⁻¹ = 5
9.12 × 10⁻³ = 0.00912 8.84 ÷ 10⁻³ = 8,840
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